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國立東華大學附設實驗國民小學 
111學年度第 1次教師甄選「英文專業科目」試題 

 

A、Choose the most appropriate answer for each question.(76%) 
 

1. A teacher is giving a speech to a group of high school drivers about the dangers of 

driving while distracted and its relation to teenage deaths. Which of the following 

supporting materials would work best to get the point across to the audience? 

(A) testimony  (B) statistics (C) analogies  (D) examples 

 

2. Mysteries, fantasies, fairy tales, and romances are genres of which literary form? 

(A) drama   (B) fiction prose (C) poetry  (D) non-fiction prose 

 

3. Which of the following statements is true about formative assessments? 

(A) They can include exams, appears, and projects.   

(B) They are used to evaluate progress and understanding. 

(C) They are high stakes because they greatly impact a student’s grade. 

(D) They are used to evaluate learning and knowledge. 

 

4. Which of the following can apply to the key aspect of a well-developed project-based 

learning? 

(A) On-going peer review only works when the teacher is completely in charge.  

(B) Projects should be irrelevant to students but closely address learning objectives. 

(C) Exclusion from participation is a first line of behavior management. 

(D) Individual accountability for all summative assessments 

 

5. Which of the following pronouns must ALWAYS be paired with a plural verb? 

(A) Few, many, both, others, and several  

(B) Most, any, none, some, and all 

(C) Whomever, whichever, they, and themselves 

(D) You, her, she, and it 

 

6. Which of the following skills does phonics instruction help the students to enhance? 

(A) listening  (B) speaking   (C) reading   (D) writing  
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7. Communicative language teaching is concerned with 

(A) Teaching of vocabulary and grammar through rules of spelling and language   

(B) Teaching language to learners for written tests 

(C) Interpreting grammar rules to suit the audience 

(D) Enhancing receptive and productive skills such as speaking, listening, reading and 

writing 

 

8. What is the skill among the ones given below that cannot be tested in a formal 

English written examination? 

(A) Reading for information   

(B) Meaning of words and phrases 

(C) Extensive reading for pleasure 

(D) Analysis texts 

 

9. A second-grade bilingual education teacher modifies his spoken language in class 

by speaking clearly and slowly, avoiding confusing idioms, repeating important 

concepts, and summarizing content frequently. The teacher most likely makes 

these modifications to provide students with 

(A) models of vocabulary usage   

(B) background knowledge 

(C) comprehensible input 

(D) examples of standard pronunciation 

 

10. Which of the following instructional activities is the best example of scaffolding in 

which first-language skills are used to foster target-language development? 

(A) While students are rehearsing a skit in the target language, the teacher points 

out pronunciation differences between the first and target languages. 

(B) During a reading activity, the teacher draws learners' attention to target-

language cognates of first language terms. 

(C) In a class discussion, the teacher and students compare first- and target language 

alphabets. 

(D) The teacher has students translate a target-language text into the first language. 

 

11. A teacher can design a test to find out the case of the poor grades of her students 

through a  

(A)diagnostic test     (B)proficiency test     (C)achievement test     (D) aptitude test 
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12. Which of the following statements best describes why a speaker may have an 

accent when speaking in a second language? 

(A) The speaker is using aspects of the sound system of the first language when 

speaking in the second language. 

(B) The speaker's first language has a different grammatical structure from the 

second language. 

(C) The speaker's first language shares few cognate words with the second language. 

(D) The speaker is using the rules for word and sentence structure in the first 

language when speaking in the second language. 

 

13. Which of the following strategies would best promote a classroom environment 

that supports cultural understanding in a language classroom? 

(A) Providing students with opportunities to debate cultural issues such as 

stereotyping, prejudice, and discrimination 

(B) Creating classroom displays and bulletin boards that include images of food and 

crafts from students' home cultures or world cultures 

(C) Leading students in discussions about what their cultures have in common and 

encouraging students to focus on these commonalties 

(D) Identifying opportunities for community members to contribute their knowledge 

and experiences to the class 

 

14. There has been a movement to view English as a lingua franca (ELF). Which of the 

following best describes such view?  

(A) Diversity and multilingualism should lie at the core of English language teaching. 

(B) It takes the prescriptive approach on language use. 

(C) Native speakers are considered the legitimate users of the language. 

(D) The teaching of standard English should be emphasized in the curriculum.   

 

15. With the proposal of the 2030 National Bilingual Policy in Taiwan, the aim is to 

situate the role of English from the current ________ to ________ in 2030.  

(A) English as a Foreign Language, English as a Second Language 

(B) English as a Lingua Franca, English as a Foreign Language 

(C) English as a Native Language, English as a Second Language 

(D) English as a Second Language, English as a Lingua Franca 
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16. Which of the following best describes immersion education?  

(A) Content is learned without specific attention to language.  

(B) Language teachers play a central role in immersion education. 

(C) It is a form of monolingual education. 

(D) It emphasizes both the teaching of content and language. 

 

17. Which of the following describes a characteristic of STEAM education?  

(A) Assessment is not required in STEAM education. 

(B) Inquiry, collaboration, and an emphasis on process-based learning are at the 

heart of the STEAM approach. 

(C) Mobile devices have to be provided for students.  

(D) The core of curriculum design in STEAM education must include literacy. 

 

18. Ms. Jo Chi, the English teacher at an elementary school, takes the communicative 

language teaching approach. She sees the errors of her students as __________.  

(A) A formation of bad habits 

(B) A sign for wrong teaching 

(C) A natural outcome of language learning 

(D) A record of students’ incompetence 

 

19. Which of the following elements is NOT included in the 4C framework of CLIL?  

(A)Cognition         (B)Content        (C)Conversation        (D)Culture 

 

20. English proficiency tests such as TOEFL and IELTS are __________ assessments.  

(A)Criterion-referenced        (B)Diagnostic        (C)Formative        (D)Norm-referenced  

 

21. __________ is a way to teach in a direct, structured way. The teacher gives clear, 

guided instruction to students from the front of the classroom.   

(A) Autonomous instruction           (B) Cognitive instruction  

(C) Explicit instruction                     (D)Implicit instruction 

 

22. Children can demonstrate phonemic awareness in several ways. When a teacher 

explains to the student the beginning sound of dog is /d/, this is __________.  

(A) Breaking a word into its separate sounds 

(B) Combining the separate sounds in a word to say the word 

(C) Isolating and saying an individual sound in a word 

(D) Recognizing which words in a set of words begin with the same sound 
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23. Despite Galileo's                , the Catholic Church declared his teachings heretical. He 

was sent to Rome for a hearing and was deemed a heretic and sent into exile. 

(A) argument          (B) discovery  (C) theory    (D) imagination 

 

24. Sky Decker's book about Shakespeare's plays                a lot to be desired as she 

merely throws facts on the page. 

(A) leaves  (B) sees  (C) jumps  (D) spends 

 

25. Technical schools are more affordable options for students who wish to enter a 

career in a specific               like plumbing, programming, or cooking. High schools 

should host guest speakers from technical schools to ensure students know about 

alternatives to colleges and universities. 

(A) school  (B) occasion  (C) need  (D) profession  

 

26. I’m glad that I have               the interview. 

(A) got about            (B) got through       (C) got away           (D) got back  

 

27. Which one among the following expresses a request? 

(A) Let’s go for a walk. 

(B) Shall we go for a picnic? 

(C) How about playing a game of chess? 

(D) May I take your notebook? 

 

28. A student reads an informational text and finds several words he does not 

understand: ''chronological,'' ''chronometer,'' and ''synchronously.'' Using his 

knowledge of prefixes, roots, and suffixes, the student should be able to interpret 

which of the following common meanings of these words? 

(A) time, date          (B) know, learn         (C) quiet, rest (D) lead, make 

 

29. Which revision will work better for the italicized part of the following sentence? 

“After the exam scores were posted, I realized that nearly everyone earned better 

scores than me.” 

(A) earns better scores than me                     (B) had earned better score then me 

(C) earned better scores than I                      (D) earned better score than me 

 

30. Which of the word uses the prefix “im-” to form its antonym? 

(A) loyal   (B) usual  (C) proper  (D) legal 
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31. A writer develops a paragraph focused on the idea that empathy is an important 

characteristic of a strong leader. Which of the following statements would serve as 

an anecdote in the paragraph? 

(A) Once, I had a boss who was not nice because he would not let us leave work early, 

ever. 

(B) Empathy refers to understanding and having awareness of others' challenges and 

barriers.   

(C) Of 100,000 people surveyed, 67% ranked empathy as a top-three characteristic a 

good leader has.  

(D) An owner of a company with ten employees decided to cancel work for one week 

with pay after one of the employee's lost his spouse.  

 

32. A child studying in Class B says: “I dranked the water.” It indicates that the child 

(A) has not learnt rules of syntax. 

(B) should memorize the correct sentence.   

(C) has over generalized the rule for making past tense verbs.  

(D) is careless and needs to be conscious of such errors.  

 

33. A major worry about COVID-19’s economic impact is the widening gender 

__________ in the labour market.  

(A) equality          (B) disparity         (C) indifference         (D) scarcity 

 

34. The opposition party will announce plans to __________ the supply of qualified 

teachers and increase the number of language courses.  

(A)appreciate      (B) boost              (C) inflate                    (D) rectify  

 

35. We often consider only the immediate hardships about divorce without knowing 

that __________ can be just as challenging.  

(A) the collateral damage              (B) the fatal incidents  

(C) the short-term effects              (D) the temporary aftermath  

 

36. For thousands of years, humans __________ dairy milk as part of their everyday 

diet.  

(A) have been consuming              (B) have consumed  

(C)  were consuming                        (D) were consumed 
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37. Social media itself is not the problem. It is the way people use it __________ actual 

communication and in-person socializing.  

(A)despite of         (B) in place of         (C) on behalf of         (D) regardless of 

 

38. Cultural differences are insurmountable barriers __________ patients and 

therapists to work successfully together.  

(A) except that there were                  (B) had it not been for  

(C)  that make it unlikely for                 (D) were it not due to 

 

 

 

B、Cloze: Choose the most appropriate answer for each blank.(8%) 
 

As the demand for apparel and shoes has increased worldwide, the fashion 

industry has experienced substantial growth. In the last 15 years, clothing production 

has doubled,         (39)        . One particular trend driving this increase      (40)     . The 

newest trends in celebrity culture and bespoke fashion shows rapidly become available 

from affordable retailers . In recent years, new stock is being produced every two 

weeks in the mass-produced market.      (41)     , mass production and consumption are 

accompanied by mass wastage, and fashion is no different. In fashion, trends rapidly 

change, and a drive to buy the latest style can leave many items with a short lifespan 

and consigned to the waste bin.      (42)     , there are significant costs with regard to not 

only irreplaceable resources but also the economy via landfilling clothing.  

 

(Source: Moorhouse, D. (2020) Making fashion sustainable: Waste and collective 

responsibility. On Earth, 3(1): 17-19. https://doi.org/10.1016/j.oneear.2020.07.002) 

 

 

(A) given that over 70% of clothing ends up in landfills 

(B) as with many commodities today 

(C) is the emergence of fast fashion 

(D) accounting for 60% of all textile production 

 

 

 
 
 

https://doi.org/10.1016/j.oneear.2020.07.002
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C、Reading Comprehension: Choose the most appropriate answer for 
each question. (16%)  

 

Passage 1: 

Dog training does not happen overnight, but is a process that continues throughout a 

dog's life. Of course, many commands and behaviors should be taught when the dog is 

young or new to the household, such as when and where to use the bathroom, what 

furniture the dog is allowed or not allowed on, and to stay and come when told. 

Teaching a dog what furniture she is allowed on can be complicated, particularly if you 

are not consistent with it. If you do not want your dog on any furniture, you should 

never allow her on it. Instead of scolding her for jumping on the furniture, however, 

you should gently move her off of it onto the floor and reward her for being where she 

belongs. Positive reinforcement should always be used instead of negative 

reinforcement like yelling or spanking. This positive reinforcement should be continued 

until the dog seems to grasp the idea that she is not allowed on the furniture, which 

may take a week or more, depending on the dog. Having a companion who knows her 

role in your household is worth the hard work, though. 

 

Passage 2: 

To teach your dog to stay, you should begin by placing your dog where you want him to 

stay and give the ''stay'' command before stepping back a bit. If your dog successfully 

stayed where he was told, you should reward him with a treat. However, if he moved, 

you should scold him by flicking his nose and sharply saying ''No!'' This process should 

be repeated until the dog stays where he was told successfully. After each successful 

time he stays, you should move back further. This process will take around a week. Dog 

training is a long process, but is incredibly rewarding for creating a well-mannered dog. 

 

43. These passages can be best defined as which of the following types of texts? 

(A) Persuasive         (B) Narrative        (C) Informational        (D) Compare-contrast 

 

44. Which, if any, of these passages uses inductive reasoning, and which, if any, uses 

deductive reasoning? 

(A) Passage 1 uses deductive reasoning; Passage 2 uses inductive reasoning. 

(B) Passage 1 uses inductive reasoning; Passage 2 uses deductive reasoning. 

(C) Both passages use inductive reasoning. 

(D) Both passages use deductive reasoning. 
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45. Unlike the author of Passage 2, the author of Passage 1 notes a variable that can 

change the time it takes for a dog to learn a command. What is that variable? 

(A) The type of treats used to reward the dog 

(B) The type of reinforcement the handler uses 

(C) The age of the dog when it is trained 

(D) The dog's personality and/or breed 

 

46. Which of the following is the major difference between the authors' viewpoints as 

presented in the passages? 

(A) The author of Passage 2 encourages only negative reinforcement. 

(B) The author of Passage 1 encourages only positive reinforcement. 

(C) The author of Passage 1 is only concerned about dogs' roles in the household. 

(D) The author of Passage 2 is solely focused on making a dog a good friend. 

 

 

At the beginning of the pandemic, there were high hopes that the global shift to 

home-working could mean childcare and chores would be divided more equally within 

couples. But numerous studies of working parents’ lives during Covid-19 have shown 

that a disproportionate share of the burden is still falling on women. In addition, many 

women have stopped working during Covid-19 through no fault of their own. Since 

they are over-represented in insecure, hourly employment and in sectors hardest hit by 

the pandemic, female workers have consequently lost their jobs or been furloughed at 

a higher rate than men. For some women, the coronavirus has also exacerbated other 

structural inequalities linked to factors such as ethnicity, class or disability. For example, 

people under the age of 25, single parents and those with lower levels of education 

had a higher risk of working for sectors shut down during the UK lockdown. 

 

Source: How Covid-19 is changing women’s lives. Available at: 

https://www.bbc.com/worklife/article/20200630-how-covid-19-is-changing-womens-lives  

 

 

47. Which of the following is the most appropriate title for this passage?  

(A) Advancing gender equalities during the pandemic  

(B) Aggravating inequalities in the household during the pandemic 

(C) Regressing family systems since the coronavirus pandemic  

(D) Unpaid labour at home since the coronavirus pandemic 

 

https://www.bbc.com/worklife/article/20200630-how-covid-19-is-changing-womens-lives
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48. Which of the following is closest in meaning to “furlough”?  

(A) Abuse        (B) Layoff        (C) Mistreat        (D) Underpay 

 

49. According to the passage, which of the following can be inferred?  

(A) Family structure has been changed due to the coronavirus pandemic. 

(B) It is vital to adjust salary problem in the society, especially for people under the 

age of 25. 

(C) The pandemic has exerted major impacts on certain groups of people in the 

society, especially women. 

(D) Women are the only group of people suffering discrimination from the  

    pandemic. 

 

50. According to the passage, what is the author’s attitude toward the topic? 

(A)  Concerned        (B) Irritated        (C) Pessimistic        (D) Sympathetic  

 

 


